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1 RJJXNSL TK XMJ 9#'/+ AJIJZJQTURJSX 4NWXVNHX 3TRRNWWNTS [NQQ GJ MJQI FX 9EJCD 3MGAIC
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3FQQ XT ?VIJV0 CMJ 3MFNVUJVWTS

'$ EJQHTRJ G] 3MFNVUJVWTS0 3MFNVUJVWTS 3TQNS ;FSJ$

($ 1UUVTZFQ TK XMJ =NSYXJW TK XMJ 3TRRNWWNTS =JJXNSLW 8JQI TS ?HXTGJV ('" (&')$

)$ 5\JHYXNZJ 4NVJHXTV^W AJUTVX _ AJZNJ[ TK 1HXNZNXNJW IYVNSL @FWX =TSXM%1HXNTS @QFS FSI

CFVLJX 1HXNZNXNJW >TZJRGJV _ =FVHM" (&'* 9SHQYINSL 4NWHYWWNTS TK 3TRRYSNHFXNTSW FSI

6VFRJ[TVPW$

*$ @VJWJSXFXNTS%4NWHYWWNTS TK 4NWXVNHX 1YINX G] <734$

+$ AJUTVX KVTR 6YWW ! ?^>JNQQ" 4NWXVNHX 5SLNSJJVW" AJLFVINSL BXFXYW TK =FWXJV @JVRNXW KVTR

3A=3 FSI 45=$

,$ @VJWJSXFXNTS G] 2VFZJ ANZJV <<3 AJLFVINSL 4JZJQTURJSX TK 4NWXVNHX EJGWNXJ$

-$ 3MFNVRFS^W AJUTVX _ AJZNJ[ TK 1HXNZNXNJW NS @FWX =TSXM FSI @VTUTWJI 6YXYVJ

1HXNZNXNJW%CJSXFXNZJ 1LJSIF KTV 4JHJRGJV /" (&') =JJXNSL$

.$ DTXJ XT 1IOTYVS$


